

HIMACHAL PRADESH PUBLIC WORKS DEPARTMENT

Office of the Executive Engineer National Highway Division HPPWD Theog.

Email: eenh-theog-hp@gov.in Phone/ Fax No.:- 01783-238900

NO.PW.THD/CB/TENDER/Tender Notice/2024

7615-17

Dated: 19/3/2025

To

The Executive Engineer,(IT) Nigam Vihar Shimla 2

Subject:-

Publication of tender Notice.

Enclose please find herewith the Tender Notice of the works as given in the Notice inviting Tender for uploading on department website as per Notification Pr. Secy. (PW)) to the Govt. of HP letter No PBW(B)A(3)1/2024 dated 03.01.2024 as the work mentioned in the tender notice are urgent in nature and in public interest.

Encl:- Schedule of Quantity.

Executive Engineer,

NH Division,

H.P.P.W.D., Theog

Copy forwarded to the Superintending Engineer NH Circle Shimla HP PWD for information please.

Copy forwarded to the Computer Cell O/O Executive Engineer(IT) Cell), Nigam Vihar Shimla-2 for information and further necessary action please.

Executive Engineer, NH Division, H.P.P.W.D., Theog

Himachal Pradesh Public Works Department Notice Inviting Tender

Sealed Percent rates tender form No 7 &8 are hereby invited by the Executive Engineer NH Division HP PWD Theog for the following works on behalf of the Governor of Himachal below:-

Date of receipt of Applications for tender forms:

Date of issue/sale of Tender forms:

Date of receipt of Tender:

Date of opening of Tender

27.03.2025 upto 12:00 PM

27.03.2025 upto 4:00 PM

28.03.2025 upto 10:30 AM

Date of opening of Tender

28.03.2025 upto 11:00 AM

4	Dat	e of opening of Tender	28.03.2025 upto 10:30 AM 28.03.2025 upto 11:00 AM						
Sr. No	Job No.	Name of Works	Estimated Cost	Earnest Money	Cost of form	Time Period for completion			
1	1	O/R. on Theog Kotkhayi Hatkoti road NH-705 k.m. 0/000 to 69/000.(SH:C/o R/wall in PCC M15 at R.D. 5/480 to 5/481.50	99047	2000	350/-	2 Months			
2	2	O/R. on Theog Kotkhayi Hatkoti road NH-705 k.m. 0/000 to 69/000.(SH:C/o R/wall in PCC M15 at R.D. 5/481.50 to 5/483	99046	2000	350/-	2 Months			
3	3	O/R. on Theog Kotkhayi Hatkoti road NH-705 k.m. 0/000 to 69/000.(SH:C/o R/wall in PCC M15 at R.D. 5/483.00 to 5/484.50	99047	2000	350/-	2 Months			
4	4	O/R. on Theog Kotkhayi Hatkoti road NH-705 k.m. 0/000 to 69/000.(SH:C/o R/wall in PCC M15 at R.D. 5/484.50 to 5/486.00	99047	2000	350/-	2 Months			
5	5	O/R. on Theog Kotkhayi Hatkoti road NH-705 k.m. 0/000 to 69/000.(SH:C/o B/wall in PCC M15 at R.D. 4/520 to 4/525	99888	2000	350/-	2 Months			
6	6	O/R. on Theog Kotkhayi Hatkoti road NH-705 k.m. 0/000 to 69/000.(SH:C/o B/wall in PCC M15 at R.D. 4/525 to 4/530	99786	2000	350/-	2 Months			
7	7	O/R. on Theog Kotkhayi Hatkoti road NH-705 k.m. 0/000 to 69/000.(SH:C/o B/wall in PCC M15 at R.D. 4/530 to 4/535	99828	2000	350/-	2 Months			
8	8	O/R. on Theog Kotkhayi Hatkoti road NH-705 k.m. 0/000 to 69/000.(SH:C/o B/wall in PCC M15 at R.D. 4/535 to 4/540	99575	2000	350/-	2 Months			
9	9	A/R & M/O Theog Kotkhai Hatkoti Road NH 705 Km 0/0 to 69/000 (SH:- Hiring of JCB Excavator Cum loader for removal of slips & maintenance of earthen shoulder at various R.D).	60500	2000	350/-	2 Months			
10	10	O/R. Damages on paonta Rajban Shillai meenus Hatkoti Road k.m. 0/000 to 69/000.(SH:Channelization 20 Mtr Downstream of Box Culvert At Kuddu Chanage)	98021	2000	350/-	2 Months			

11 O/R. Damages on paonta Rajban Shillai meenus Hatkoti Road k.m. 0/000 to 69/000.(SH:Channelization 20 Mtr Downstream of Box Culvert At Kuddu	2 Months
Chanage) Terms & Conditions:- The tender documents shall be issued to those contractors/firms who	fulfill the 6 H
Terms & Conditions.	" the following

Terms & Condition documents with the application: The valid enlistment/ registration of contractor in appropriate class.

- Permanent Account Number(PAN) 2
- 3 GST Number and EPF No.
- Earnest Money in the shape of National saving certificate/Time deposit account in any of the Post office in HP FDR from Tender form for the above works should be submitted with the application for the purchase of the tender forms. The application received without earnest money & Cost tender form shall summarily be rejected.
- Ambiguous/telegraphic/Conditional tender of tender by fax/ E-mail shall not be entertained/considered and will summarily be rejected.
- Executive Engineer reserves the right to reject or cancel any or all the tenders without assigning any
- The offer of the tender shall remain valid upto 120 days after the opening of tender.
- If the date given above happens to be a holiday, the same shall be processed on next working days.
- The Contractors/firm must quote their rates in words as well as in figures failing which Xen reserves the right to accept/reject any or all tenders.
- 10 The Tender form will not be issued to those contractors/firms whose previous performance is not found satisfactory and who have not executed/completed the previous awarded works within the stipulated period of completion.
- 11 One Contractor should not have more than two works in hand at a time.

12 Works should be completed by the contractor within the stipulated period.

Executive Engineer, NH Division,

H.P.P.W.D., The Dated

No/PW/NH/CB/Tender/2024 7607-19

Copy forwarded for information and necessary actions to:

- 1 The Engineer-in Chief HP PWD Nigam Vihar Shimla
- The Chief Engineer, NH HP PWD Shimla 2
- The Superintending Engineer NH Circle HP PWD Shimla.
- All the Assistant Engineer working under this Division
- The Drawing Branch/Account Branch in this office. 5

6 Notice Board.

> Executive Engineer, NH Division,

H.P.P.W.D., Theog







NATIONALHIGHWAY(NH-05) HIMACHALPRADESHPUBLICWORKSDE PARTMENT DIVISIONTHEOG

Certificate

Certified that the tenders of works as called

vide this office NIT No/PW/NH/CB/Tender/2023-7697-14 Dated 19/3/2025

are urgent nature and public interest.

Executive Engineer, NH Division,

H.P.P.W.D., Theog

_	SCHEDULE OF QUANTITY			Estimated	Rs:-99,237.00	
_	- Vi WOF:			Earnest Money	Rs:- 2000 only.	
3				Time	3 Month.	
_		Small in P	CC M15	5 at R.D. 5	/480 to 5/481.50	
Na	ame of work :- O/R. on Theog Kotkhayi Hatkoti road NH-705 k.m. 0/000 to 69/000.(SH:C/o R	//Wall III	Unit.	T	Rate	Amount
Sr.	Description of item	Quantity	Oin.	In figure	In words	, and and
No		3.39	Per	180.10	Rupees One	611.00
1	Excavation in cutting for roadwork in soil with hydraulic excavator including cutting and loading in a tipper ,trimming bottom and side slopes, in accordance with requirement of lines, grades and cross sections and transporting to the embankment site with in all lifts and leads as per Drawing and Specification. Any loss to public /private poperty during course of excavation shall be the whole responsibility of the contractor including carriage of materials by all modes of transportation as per	3.00	Cum.		Hundred Eighty and Paise Ten Only	
2	the direction by the Engineer-in-charge. Excavation for Structures .Earth work in excavation of foundation of structures as per drawings and technical specifications clause 304, including setting out, construction of shoring and bracing ,rermoval of slumps and other deleterious matter ,dressing of sides and bottom , back filling the excavation earth to the extent required and utlising the remaining earh locally for road work Ordinary Soil Manual Means , stacking the useful materials and disposal of unserviceable materials in all leads & lifts . Any loss to public /private poperty during course of excavation shall be the whole responsibility of the contractor including carriage of materials and equipment in all leads and lifts by all modes of transportation as per the direction by the Engineer-in-charge.		Per Cum.	211.6	Rupees Two Hundred Eleven and Paise Sixty Only	749.00
		12.120	Per Cum.	7600.00	Rupees Seven Thousand Six Hundred Only	92112.00
t	Providing and layingof filter mdia with granular material/stone crushed aggregate satisfying the requirements laid down in clause 2504.2.2 of MoRTH specifications to a thickness of not less than 600 mm (six hundred millimetre) with smaller size towards the soil and bigger size towards the wall and provided over the entire surface behind retaining walls abutment, wing wall and return walls to the full height compacted to a firm condition complete as per drawing and technical Specification, as per direction of the Engineer-in-Charge in all leads and lifts and carriage of materials by all means of transport etc.	2.11	Per Cum.	2282.80	Rupees Two Thousand Two Hundred Eighty Two and Paise Eighty Only	4817.00
0	Providing weep holes in Brick masonry/plain /reinforced concrete abutment,wing wall/return wall with 100 mm dia.AC pipe extending through the full width of the structure with slop of IV: 20 H towards drawing complete as per drawing and Technical Specifications and as per direction of the Engineer-in-Charge in all leads and lifts and carriage of materials by all means of transport etc.	3.00	Nos	252.70	Rupees Two Hundred Fifty Two and Paise Seventy Only	758.0
1	Total					99047.00
+	(Quoted Rates in Figures)(+/-)		(.		***	
_	(Quoted Rates in words)(+/-)		(.		0/1	igineei HPPWD

Tineog

	SCHEDULE OF QUANTITY			Estimated Cost:	Rs:-99,046.00	
				Earnest Money	Rs:- 2000 only.	,
	·			Time.	3 Month.	
_	arme of work: - Q/R. on Theog Kotkhayi Hatkoti road NH-705 k.m. 0/000 to 69/000.(SH:C/o R		CC M1	at R.D. 5	/481.50 to 5/483.00	
_	Lethoti road NH-705 k.m. 0/000 to so road (SH:C/o R	/wall in	Unit.	T	Rate	Amount
N:	ame of work :- O/R. on Theog Kotkhayi Hatkou road 1111 - 1111 1111 1111 1111 1111 1111	Quantity	01111	In figure	In words	
Sr	Description of No.	0.20	Per	180.10	Rupees One	610.00
1	Excavation in cutting for roadwork in soil with hydraulic excavator including cutting and loading in a tipper trimming bottom and side slopes, in accordance with requirement of lines, grades and cross sections and transporting to the embankment site with in all lifts and leads as per Drawing and sections and transporting to the embankment site with in all lifts and leads as per Drawing and	3.39	Cum.		Hundred Eighty and Paise Ten Only	
2	responsibility of the contractor including carriage of materials by all modes of transportation as per the direction by the Engineer-in-charge. Excavation for Structures .Earth work in excavation of foundation of structures as per drawings and technical specifications clause 304, including setting out, construction of shoring and bracing ,rermoval of stumps and other deleterious matter ,dressing of sides and bottom , back filling the excavation earth to the extent required and utilising the remaining earh locally for road work Ordinary Soil Manual Means , stacking the useful materials and disposal of unserviceable materials in all leads & lifts . Any loss to public /private poperty during course of excavation shall be the whole responsibility of the contractor	3.54	Per Cum.	211.6	Rupees Two Hundred Eleven and Paise Sixty Only	749.00
3	including carriage of materials and equipment in all leads and lifts by all modes of transportation as per the direction by the Engineer-in-charge. Providing and taying Plain Cement Concrete in M15 Grade in open Foundation complete as per Drawing and technical specifications clause 1500,1700,2100, in all leads, lifts and carriage of materials by all means of transport etc. as per direction of the Engineer-in-Charge.	12.120	Per Cum.	7600.00	Rupees Seven Thousand Six Hundred Only	92112.00
	Providing and laying of filter mdia with granular material/stone crushed aggregate satisfying the requirements laid down in clause 2504.2.2 of MoRTH specifications to a thickness of not less than 600 mm (six hundred millimetre) with smaller size towards the soil and bigger size towards the wall and provided over the entire surface behind retaining walls abutment, wing wall and return walls to the full height compacted to a firm condition complete as per drawing and technical Specification, as per direction of the Engineer-in-Charge in all leads and lifts and carriage of materials by all means of transport etc.	2.11	Per Cum.	2282.80	Rupees Two Thousand Two Hundred Eighty Two and Paise Eighty Only	4817.00
	Providing weep holes in Brick masonry/plain /reinforced concrete abutment,wing wall/return wall with 100 mm dia.AC pipe extending through the full width of the structure with slop of IV : 20 H towards drawing complete as per drawing and Technical Specifications and as per direction of the Engineer-in-Charge in all leads and lifts and carriage of materials by all means of transport etc.	3.00	Nos	252.70	Rupees Two Hundred Fifty Two and Paise Seventy Only	758.0
4	Total					99046.00
	(Quoted Rates in Figures)(+/-)				(6)	tive Engir
	(Quoted Rates in words)(+/-)					vision HP

T	SCHEDINE					(3)
1	SCHEDULE OF QUANTITY			Estimated	Rs:-99,047.00	
				Cost:		
+				Earnest Money	Rs:- 2000 only.	
ar	no of			Time.	3 Month.	
Ť	ne of work :- O/R. on Theog Kotkhayi Hatkoti road NH-705 k.m. 0/000 to 69/000.(SH:C/o R/	wall in P	CC M15	at R.D. 5/	483 to 5/484.50	
0	Description of item	Quantity	Unit.			Amount
	Evac			In figure	In words	
	Excavation in cutting for roadwork in soil with hydraulic excavator including cutting and loading in a tipper ,trimming bottom and side slopes, in accordance with requirement of lines, grades and cross sections and transporting to the embankment site with in all lifts and leads as per Drawing and Specification. Any loss to public /private poperty during course of excavation shall be the whole responsibility of the contractor including carriage of materials by all modes of transportation as per the direction by the Engineer-in-charge.	3.39	Per Cum.	180.10	Rupees One Hundred Eighty and Paise Ten Only	611.00
?	Excavation for Structures. Earth work in excavation of foundation of structures as per drawings and technical specifications clause 304, including setting out, construction of shoring and bracing ,rermoval of slumps and other deleterious matter ,dressing of sides and bottom , back filling the excavation earth to the extent required and utilising the remaining earh locally for road work Ordinary Soil Manual Means , stacking the useful materials and disposal of unserviceable materials in all leads & lifts . Any loss to public /private poperty during course of excavation shall be the whole responsibility of the contractor including carriage of materials and equipment in all leads and lifts by all modes of transportation as per the direction by the Engineer-in-charge.	3.54	Per Cum.	211.6	Rupees Two Hundred Eleven and Paise Sixty Only	749.00
3	Providing and laying Plain Cement Concrete in M15 Grade in open Foundation complete as per Drawing and technical specifications clause 1500,1700,2100 , in all leads, lifts and carriage of materials by all means of transport etc. as per direction of the Engineer-in-Charge.	12.120	Per Cum.	7600.00	Rupees Seven Thousand Six Hundred Only	92112.00
	Providing and layingof filter mdia with granular material/stone crushed aggregate satisfying the requirements laid down in clause 2504.2.2 of MoRTH specifications to a thickness of not less than 600 mm (six hundred millimetre) with smaller size towards the soil and bigger size towards the wall and provided over the entire surface behind retaining walls abutment, wing wall and return walls to the full height compacted to a firm condition complete as per drawing and technical Specification, as per direction of the Engineer-in-Charge in all leads and lifts and carriage of materials by all means of transport etc.	1	Per Cum	2282.80	Rupees Two Thousand Two Hundred Eighty Two and Paise Eighty Only	4817.00
	Providing weep holes in Brick masonry/plain /reinforced concrete abutment,wing wall/return wall with 100 mm dia.AC pipe extending through the full width of the structure with slop of IV: 20 H towards drawing complete as per drawing and Technical Specifications and as per direction of the Engineer-in Charge in all leads and lifts and carriage of materials by all means of transport etc.	3.00	Nos	252.70	Rupees Two Hundred Fifty Two and Paise Sevent) Only	
	Total					199047.00
_	(Quoted Rates in Figures)(+,	/-)		(-2%	ecutive Engin
	(Quoted Rates in words)(+			-	1-0	Division HPI

Theog

	SCHEDULE OF QUANTITY			Estimated Cost:	Rs:-99,046.00	
+				Earnest Money	Rs:- 2000 only.	
-				Time.	3 Month.	
	e of work :- O/R. on Theog Kotkhayi Hatkoti road NH-705 k.m. 0/000 to 69/000.(SH:C/o R	11:00	CC M15	at R.D. 5/	484.50 to 5/486.00	
<u>Nam</u>	e of work: O/R, on Theog Kotkhavi Hatkoti road NH-705 k.m. 0/000 to so/con (SH:C/o R	/wall in F	Unit	1	Rate	Amount
Sr.	Description of item	Quantity	Om.	In figure	In words	
No				180.10	Rupees One	614.00
tip Se S	excavation in cutting for roadwork in soil with hydraulic excavator including cutting and loading in a pper ,trimming bottom and side slopes, in accordance with requirement of lines, grades and cross ections and transporting to the embankment site with in all lifts and leads as per Drawing and specification. Any loss to public /private poperty during course of excavation shall be the whole esponsibility of the contractor including carriage of materials by all modes of transportation as per	3.39	Per Cum.	180.10	Hundred Eighty and Paise Ten Only	
2 E te of to	the direction by the Engineer-in-charge. Excavation for Structures .Earth work in excavation of foundation of structures as per drawings and exchnical specifications clause 304, including setting out, construction of shoring and bracing ,rermoval f slumps and other deleterious matter ,dressing of sides and bottom , back filling the excavation earth to the extent required and utilising the remaining earh locally for road work Ordinary Soil Manual Means stacking the useful materials and disposal of unserviceable materials in all leads & lifts . Any loss to ublic /private poperty during course of excavation shall be the whole responsibility of the contractor including carriage of materials and equipment in all leads and lifts by all modes of transportation as er the direction by the Engineer-in-charge.	3.54	Per Cum.	211.6	Rupees Two Hundred Eleven and Paise Sixty Only	749.00
ום	roviding and laying Plain Cement Concrete in M15 Grade in open Foundation complete as per rawing and technical specifications clause 1500,1700,2100, in all leads, lifts and carriage of laterials by all means of transport etc. as per direction of the Engineer-in-Charge.	12.120	Per Cum.	7600.00	Rupees Seven Thousand Six Hundred Only	92112.00
red mr pro hei dire	roviding and layingof filter mdia with granular material/stone crushed aggregate satisfying the quirements laid down in clause 2504.2.2 of MoRTH specifications to a thickness of not less than 600 m (six hundred millimetre) with smaller size towards the soil and bigger size towards the wall and ovided over the entire surface behind retaining walls abutment, wing wall and return walls to the full ight compacted to a firm condition complete as per drawing and technical Specification, as per ection of the Engineer-in-Charge in all leads and lifts and carriage of materials by all means of nsport etc.	2.11	Per Cum.	2282.80	Rupees Two Thousand Two Hundred Eighty Two and Paise Eighty Only	4817.00
dra Cha	oviding weep holes in Brick masonry/plain /reinforced concrete abutment,wing wall/return wall with 0 mm dia.AC pipe extending through the full width of the structure with slop of IV : 20 H towards wing complete as per drawing and Technical Specifications and as per direction of the Engineer-inarge in all leads and lifts and carriage of materials by all means of transport etc.	3.00	Nos	252.70	Rupees Two Hundred Fifty Two and Paise Saventy Only	758.0
Tota	al					99044.00
	(Quoted Rates in Figures)(+/-)				Expristive	
	(Quoted Rates in words)(+/-)				NH Bivis	IST HPPW
_	(20000 Nates III WO/OS)(47-)		(,	••••••	Theog	1770

SCHEDULE OF QUANTITY	T		Estimate	d Rs:-99,888.00	_
WOANTI	7		Cost:		
			Earnest	Rs:- 2000 only.	
		1	Money	•	
			Time.	3 Month.	
Name of work :- O/R. on Theog Kotkhayi Hatkoti road NH-705 k.m. 0/000 to 69/000.(SH:C/o B/wall	in PCC M1	5 at R.D	. 4/520 to 4/	525).	
				Rate	Amount
Sr. Description of item	Quantity	Unit.	In figure	In words	
No		Per	150.00	Rupees One	960.00
1 Excavation in cutting for roadwork in soil with hydraulic excavator including cutting and loading in a tipper ,trimming bottom and side slopes, in accordance with requirement of lines, grades and cross sections and transporting to the embankment site with in all lifts and leads as per Drawing and Specification. Any loss to public /private poperty during course of excavation shall be the whole responsibility of the contractor including carriage of materials by all modes of transportation as per	6.40	Cum.	130.00	Hundred Fifty Only	
the direction by the Engineer-in-charge. Excavation for Structures .Earth work in excavation of foundation of structures as per drawings and technical specifications clause 304, including setting out, construction of shoring and bracing removal of slumps and other deleterious matter ,dressing of sides and bottom , back filling the excavation earth to the extent required and utilising the remaining earh locally for road work Ordinary Soil Manual Means , stacking the useful materials and disposal of unserviceable materials in all leads & lifts . Any loss to public /private poperty during course of excavation shall be the whole responsibility of the contractor including carriage of materials and equipment in all leads and lifts by all modes of transportation as per the direction by the Engineer-in-charge.	3.5	Per Cum.	304.95	Rupees Three Hundred Four and Paise Ninety Five Only	1067.00
Providing and laying Plain Cement Concrete in M15 Grade in open Foundation complete as per Drawing and technical specifications clause 1500,1700,2100, in all leads, lifts and carriage of materials by all means of transport etc. as per direction of the Engineer-in-Charge.	13.0	Per Cum.	7450.00	Rupees Seven Thousand Four Hundred Fifty Only	96850.00
Providing weep holes in Brick masonry/plain /reinforced concrete abutment,wing wall/return wall with 100 mm dia.AC pipe extending through the full width of the structure with slop of IV : 20 H towards drawing complete as per drawing and Technical Specifications and as per direction of the Engineer-in-Charge in all leads and lifts and carriage of materials by all means of transport etc.	4.0	Nos		Rupees Two Hundred Fifty Two and Paise Seventy Only	1011.00
Total					99888.0
(Quoted Rates in Figures)(+/-)		(%)	
(Quoted Rates in words)(+/-)		(17	%)	
Conditions			X		

Theog

ı	ĸ,	м	
r	si		×

	SCHEDULE OF QUANTITY			Cost:	Rs:-99,786.00	
				Earnest Money	Rs:- 2000 only.	
				Time	3 Month.	
_	ame of work: - O/R. on Theog Kotkhayi Hatkoti road NH-705 k.m. 0/000 to 69/000.(SH:C/o E		CC MAA	at P.D. 4	1525 to 4/530).	
_	1 ANU 705 km 0/000 4 3 15H·C/O	3/wall in P	CC IVI I	at N.D	,	
Na	ame of work :- O/R. on Theog Kotkhayi Hatkoti road NH-705 K.III. 0/000 to 69/000.(511)	4*4	Unit		Rate	Amount
_	£'4-m	Quantity	Unit.	In Course	In words	
Sr.				In figure	Rupees One	720.00
No		4.80	Per	150.00		720.00
1	Excavation in cutting for roadwork in soil with hydraulic excavator including cutting and loading in a		Cum.	1	Hundred Fifty Only	
-	Itingos triangian batter and side slopes in accordance with requirement of lines, drades and cross					
- 1	sections and transporting to the embankment site with in all lifts and leads as per Drawing and					
- 1	Specification Apylogs to public /private poperty during course of excavation shall be the whole					
- 1	responsibility of the contractor including carriage of materials by all modes of transportation as per					
J,	the direction by the Engineer-in-charge	3.95	Per	304.95	Rupees Three	1205.0
2 6	The state of the s	3.95	Cum.	004.00	Hundred Four and	
1.	echnical specifications clause 304, including setting out, construction of shoring and bracing removal dechnical specifications clause 304, including setting out, construction of shoring and bracing removal dechnical specifications clause 304, including setting out, construction of shoring and bracing removal decining the setting out of sides and bottom. Back filling the appropriation earth		Cuiii.		Paise Ninety Five	
1"	of slumps and other deleterious matter ,dressing of sides and bottom , back filling the excavation earth				Only	
10	to the extent required and utilising the remaining earh locally for road work Ordinary Soil Manual Means to the extent required and utilising the remaining earh locally for road work Ordinary Soil Manual Means to the extent required and utilising the remaining earh locally for road work ordinary Soil Manual Means to the extent required and utilising the remaining earh locally for road work ordinary Soil Manual Means to the extent required and utilising the remaining earh locally for road work ordinary Soil Manual Means to the extent required and utilising the remaining earh locally for road work ordinary Soil Manual Means to the extent required and utilising the remaining earh locally for road work ordinary Soil Manual Means to the extent required and utilising the remaining earh locally for road work ordinary Soil Manual Means to the extent required and utilising the remaining earh locally for road work ordinary Soil Manual Means to the extent required and utilising the remaining earh locally for road work ordinary Soil Manual Means to the extent required and utilising the remaining earh locally for road work ordinary Soil Manual Means to the extent of the ex	- 1		1	Offity	
Itt	stacking the useful materials and disposal of unserviceable materials in all leads & lifts . Any loss to	I			1	
1.3	ublic /private poperty during course of excavation shall be the whole responsibility of the contractor			1		
P	ublic /private poperty during course of excavation shall be the whole responsibility of the contact					
lin	cluding carriage of materials and equipment in all leads and lifts by all modes of transportation as					
рe	er the direction by the Engineer-in-charge.	- 1				
_	1 to an nor	13.0	Per	7450.00	Rupees Seven	96850.
Pro	oviding and laying Plain Cement Concrete in M15 Grade in open Foundation complete as per	10.0	Cum.		Thousand Four	
Dra	awing and technical specifications clause 1500,1700,2100 , in all leads, lifts and carriage of		Juin.		Hundred Fifty Only	
ma	terials by all means of transport etc. as per direction of the Engineer-in-Charge.				riandied rinty Only	
						1011.0
Pro	viding weep holes in Brick masonry/plain /reinforced concrete abutment,wing wall/return wall with	4.0	Nos	252.7	Rupees Two	1011.0
100	mm dia.AC pipe extending through the full width of the structure with slop of IV : 20 H towards				Hundred Fifty Two	
Irav	wing complete as per drawing and Technical Specifications and as per direction of the Engineer-in-				and Paise Seventy	
	rge in all leads and lifts and carriage of materials by all means of transport etc.				Only	
nia.	ige in all leads and litts and cantage of materials by an means of dansport etc.				,	
otal						99786.
Jul	(Quoted Rates in Figures)(+/-)		ſ		%)	221.301
_						
	(Quoted Rates in words)(+/-)		(%)	

Conditions



¹ Rates shall be Quoted for all heights including all leads and lifts.

² The Contractor shall procure all the materials conforming to the specification of MORTH at his own risk and cost

	SCHEDULE OF QUANTITY	T			Rs:-99,828.00	
_				Cost: Earnest	Rs:- 2000 only.	
				Money		
				Time.	3 Month.	
N	ame of work	hwall in P	CC M15	at R.D. 4	/530 to 4/535).	
Sr.	ame of work :- O/R. on Theog Kotkhayi Hatkoti road NH-705 k.m. 0/000 to 69/000.(SH:C/o B	Quantity	Unit.		Rate	Amount
No		Quantity	_	In figure	in words	
_		6.00	Per Cum.	150.00	Rupees One Hundred Fifty Only	900.00
	the direction by the Engineer-in-charge. Excavation for Structures .Earth work in excavation of foundation of structures as per drawings and technical specifications clause 304, including setting out, construction of shoring and bracing ,rermoval of slumps and other deleterious matter, dressing of sides and bottom, back filling the excavation earth to the extent required and utilising the remaining earh locally for road work Ordinary Soil Manual Means, stacking the useful materials and disposal of unserviceable materials in all leads & lifts. Any loss to public /private poperty during course of excavation shall be the whole responsibility of the contractor including carriage of materials and equipment in all leads and lifts by all modes of transportation as per the direction by the Engineer-in-charge.	3.5	Per Cum.	304.95	Rupees Three Hundred Four and Paise Ninety Five Only	1067.00
1	Providing and laying Plain Cement Concrete in M15 Grade in open Foundation complete as per Drawing and technical specifications clause 1500,1700,2100, in all leads, lifts and carriage of materials by all means of transport etc. as per direction of the Engineer-in-Charge.	13.0	Per Cum.	7450.00	Rupees Seven Thousand Four Hundred Fifty Only	96850.00
di	Providing weep holes in Brick masonry/plain /reinforced concrete abutment,wing wall/return wall with 00 mm dia.AC pipe extending through the full width of the structure with slop of IV: 20 H towards rawing complete as per drawing and Technical Specifications and as per direction of the Engineer-inharge in all leads and lifts and carriage of materials by all means of transport etc.	4.0	Nos	252.7	Rupees Two Hundred Fifty Two and Paise Seventy Only	1011.00
То	otal					99828.0
	(Quoted Rates in Figures)(+/-)			(%)	
	(Quoted Rates in words)(+/-)			((%)	
Rate	nditions es shall be Quoted for all heights including all leads and lifts. Contractor shall procure all the materials conforming to the specification of MORTH at his own risk and			(76)	

NH Division HPP.
Theog

Try					
SCHEDULE OF QUANTITY	T		Estimated Cost:	Rs:-99,828.00	
			Earnest Money	Rs:- 2000 only,	
			Time.	3 Month.	
Name of work :- O/R. on Theog Kotkhayi Hatkoti road NH-705 k.m. 0/000 to 69/000.(SH:C/o	B/wall in F	PCC M15	at R.D. 4	/535 to 4/540).	
Sr. O/R. on Theog Kotkhayi Hatkoti road NH-7U5 k.m. 0/000 to 69/000.(SH:Glo	Quantity	Unit.			Amount
Description of item		ĺ	In figure	In words	
1 Excavation in cutting for roadwork in soil with hydraulic excavator including cutting and loading in a tipper ,trimming bottom and side slopes, in accordance with requirement of lines, grades and cross sections and transporting to the embankment site with in all lifts and leads as per Drawing and Specification. Any loss to public /private poperty during course of excavation shall be the whole responsibility of the contractor including carriage of materials by all modes of transportation as per	6.00	Per Cum.	150.00	Rupees One Hundred Fifty Only	900.00
Excavation by the Engineer-in-charge. Excavation for Structures .Earth work in excavation of foundation of structures as per drawings and technical specifications clause 304, including setting out, construction of shoring and bracing, rermoval of slumps and other deleterious matter, dressing of sides and bottom, back filling the excavation earth to the extent required and utilising the remaining earh locally for road work Ordinary Soil Manual Means, stacking the useful materials and disposal of unserviceable materials in all leads & lifts. Any loss to public /private poperty during course of excavation shall be the whole responsibility of the contractor including carriage of materials and equipment in all leads and lifts by all modes of transportation as per the direction by the Engineer-in-charge.		Per Cum.	304.95	Rupees Three Hundred Four and Paise Ninety Five Only	1067.00
Providing and laying Plain Cement Concrete in M15 Grade in open Foundation complete as per Drawing and technical specifications clause 1500,1700,2100, in all leads, lifts and carriage of materials by all means of transport etc. as per direction of the Engineer-in-Charge.		Per Cum.	7450.00	Rupees Seven Thousand Four Hundred Fifty Only	96850.00
Providing weep holes in Brick masonry/plain /reinforced concrete abutment,wing wall/return wall with 00 mm dia.AC pipe extending through the full width of the structure with slop of IV: 20 H towards rawing complete as per drawing and Technical Specifications and as per direction of the Engineer-in-tharge in all leads and lifts and carriage of materials by all means of transport etc.	3.0	Nos	252.7	Rupees Two Hundred Fifty Two and Paise Seventy Only	758.00
l de la companya de	- 1		1		
otal					99575.00

(Quoted Rates in words)(+/-)

Conditions

- 1 Rates shall be Quoted for all heights including all leads and lifts.
- 2 The Contractor shall procure all the materials conforming to the specification of MORTH at his own risk and cost

Executive Engineer NH Division HPPWD Theog

(.....%)

(Quoted Rates in Figures)(+/-)

(Quoted Rates in words)(+/-)

Conditions

Total

- 1 Rates shall be Quoted for all heights including all leads and lifts.
- 2 The Contractor shall procure all the materials conforming to the specification of MORTH at his own risk and cost

major accident and other damage to private and govt. property is the hole responsablity of the contractor. The work shall be executed as per Morth

specification and as per the direction of Engineer -In-Charge.

Executive Engineer, NH Division HPPWD, Theog.

(.....%)

(.....%)

0

60500.00

					(16)
SCHEDULE OF QUANTIT	<u>ry</u>		Estimated	Rs:-98,021.00	
			Cost:		
			Earnest	Rs:- 2000 only.	
			Time.	3 Month.	
me of work: - O/R. Damages on paonta Rajban Shillai meenus Hatkoti Road k.m. 0/000 tovert At Kuddu Chanage)	69/000.(\$	SH:Chan	nelization 2	20 Mtr Downstream	
	Quantity	Unit.		Rate	Amount
Description of item	- Carrier		In figure	In words	
	12 800	Per	298.48	Rupees Two	3821.00
Excavation for Structures .Earth work in excavation of foundation of structures as per drawings and		Cum.		Hundred Ninety	
technical specifications clause 304, including setting out, construction of shoring and bracing, removal			l	Eight and Paise	
E	ne of work: - O/R. Damages on paonta Rajban Shillai meenus Hatkoti Road k.m. 0/000 to retr At Kuddu Chanage) Description of item Excavation for Structures .Earth work in excavation of foundation of structures as per drawings and echnical specifications clause 304, including setting out, construction of shoring and bracing rermoval.	Description of item Quantity Excavation for Structures .Earth work in excavation of foundation of structures as per drawings and echnical specifications clause 304, including setting out, construction of shoring, and bracing rermoval	Description of item Description of foundation of structures as per drawings and perhaps a	Cost: Earnest Money Time.	Cost: Earnest Rs:- 2000 only. Money Time. 3 Month.

		Quantity	Unit.	Rate		Amount
Sr.	Description of item			In figure	In words	
	Excavation for Structures .Earth work in excavation of foundation of structures as per drawings and technical specifications clause 304, including setting out, construction of shoring and bracing ,rermoval of slumps and other deleterious matter ,dressing of sides and bottom , back filling the excavation earth to the extent required and utilising the remaining earh locally for road work Ordinary Soil Manual Means , stacking the useful materials and disposal of unserviceable materials in all leads & lifts . Any loss to public /private poperty during course of excavation shall be the whole responsibility of the contractor including carriage of materials and equipment in all leads and lifts by all modes of transportation as per the direction by the Engineer-in-charge.	12.800	Per Cum.	298.48	Rupees Two Hundred Ninety Eight and Paise Forty Eight Only	3821.00
1	Providing and laying Plain Cement Concrete in M15 Grade in open Foundation complete as per Drawing and technical specifications clause 1500,1700,2100, in all leads, lifts and carriage of materials by all means of transport etc. as per direction of the Engineer-in-Charge.	12.000	Per Cum.	7850.00	Rupees Seven Thousand Eight Hundred Fifty Only	94200.00
1	Otal					98021.00
ŀ	(Quoted Rates in Figures)(+/-)		(%)	
	(Quoted Rates in words)(+/-)		(%)	

•

Executive Engineer, NH Division HPPWD, Theog.

SCHEDULE OF QUANTITY	Estimated Rs:-98,021.00
	Cost:
	Earnest Rs:- 2000 only.
	Money
	Time. 3 Month.
	(CH:Channelization 20 Mtr Downstream of Box

Name of work: O/R. Damages on paonta Rajban Shillai meenus Hatkoti Road k.m. 0/000 to 69/000.(SH:Channelization 20 Mtr Do Culvert At Kuddu Chanage)

Rate Al						Amount
Sr	. Description of item	Quantity	Unit.			Amount
No 1	Excavation for Structures. Earth work in excavation of foundation of structures as per drawings and technical specifications clause 304, including setting out, construction of shoring and bracing ,rermova of slumps and other deleterious matter ,dressing of sides and bottom , back filling the excavation earth to the extent required and utilising the remaining earh locally for road work Ordinary Soil Manual Means , stacking the useful materials and disposal of unserviceable materials in all leads & lifts . Any loss to public /private poperty during course of excavation shall be the whole responsibility of the contractor including carriage of materials and equipment in all leads and lifts by all modes of transportation as	12.800	Per Cum.	In figure 298.48	In words Rupees Two Hundred Ninety Eight and Paise Forty Eight Only	3821.00
2 Pi Dr ma	per the direction by the Engineer-in-charge. Toviding and laying Plain Cement Concrete in M15 Grade in open Foundation complete as per rawing and technical specifications clause 1500,1700,2100, in all leads, lifts and carriage of aterials by all means of transport etc. as per direction of the Engineer-in-Charge.	12.000	Per Cum.	7850.00	Rupees Seven Thousand Eight Hundred Fifty Only	94200.00
Tot	al .		- 1			98021.00
	(Quoted Rates in Figures)(+/-)		(%)			_
	(Quoted Rates in words)(+/-)	(%)				

Executive Engineer, NH Civision HPPWD, Theog.